/DVIRB

*UXSD 5RIN&DG 750 =(: 7\J
7\6] 7N 7N 7N
=DJRVSRGDIRZDQLH IXU\VINF]QH L =DJRVSRGDIRZDQH ZHNIRUDI ICT\ND REFHJR 3RUN IRIQIFTH Z REVAXG]H
UHNUHDFNIQH GZ  SURI =DVIDYHIVND IXUNVINFTQH L UHNUHDF\IQH iz 750 =(& UXFKX IXAVINFIQHIR G2
JHVD = 750 =(: Z SIRI =DVIDYHIVND y PJU GICIDN SIHNVDQGUD
JHVD = 7,50 CI\N QUAPLAFN. 750 =(&
7\G] =(: —~
;([KS,VSRGDURZDQLH N 3RUN (RIQIFJH Z REVAXG]H
IXUNVINFTQH L UHNUHDFIQH UXFKX IXA\VINFTQHJR Z
Z SURI =DVIDYHIVND 3VAFKRIRJLF]QH IHFKQIN. P30 GIC]ON SHWDOGID
/HVID = 750 1DU]1aGIDQID UZ GU 750 “:( -
=(& KDE SIRI QDG]Z ’ -
7DUQRSRIVNL $QGUTHI =%
7N 750 =(&
= BVAFKRIRJLF]QH IHFKQINL
= 1DU1aGIDQID Z GU
= KDE SIRI QDG]Z
0) 7DUQRSRIVNL $QGUTHI =%
I 750  =(:
o
4
n
7\6] 7\6]
3WFKRIRJL | [3VAFKRIRIL
FIoH FIoH
IHFKQINL IHFKQINL
101136100t | {1011aG1DQL
Dz al |[piz e
KDE SRI | [KDE SwrI
QDG]Z QDG]Z
7DUQRSRWN| [7DUQRSRIVN
LSQGUIHI =| [l SQGUTHI =
% %
750 750
:( = :( &
7N 7\6] 7\6]
3RUN IRIQIFTH Z REVAXG]H 3RUN IRIQIFTH Z REVAXG]H
GHPLQDUXP UXFKX IXAVINFIQHIR Z UXFKX IXAVINFIQHIR G2
PDJVIHWNH GU KDE PJU GICIDN SIHNVDQGUD PJU §0C]DN $IHNVDQGUD
5]CIDiD ODUXV] = 750 =(: 750 =(&
750 =(:
=
<
z 7\6]
=
N 6HPLQDULX
P
PDILVIHVNL
H GU KDE
5]CIDiD
oDUXV] -
750
:( =
o 7N 7N 7N 7N
o =DJRVSRGDIRZDQLH IXU\VINF]QH L UHNUHDFNIQH 6Z SUR =DJRVSRGDIRZDQLH IXU\VINF]QH L 3RUN IRIQIFTH Z REVAXG]H 3RUN IRIQIFTH Z REVAXG]H
x | =DVIDYHIVND /HVID = 750 =(& UIHNUHDFNIQH Z  SURI =DVIDYHIVND UXFKX IXAVINFIQHIR Z UXFKX IXAVINFIQHIR G2
2 JHVD = 750 =(: PJU GICIDN SIHNVDQGUD PJU §IC]DN $IHNVDQGUD
‘ ‘ 750 =(: 750 =(&




/DVIRB

*UXSD 5RINiDG 750 =(: 7\J
7N 7N
6HPLQDUXP
6HPLQDUXP PDIWIHWNH 6l
PDIWVIHWNH 6l BiRPLEVNL SINDGLXV] =
BiRPLEVNL SINDGLXV] = 750 =(:
750 =(:
7\G]
=DU]4G]DQIH NDUHU3 L IR]ZRIHP
RVREWAP GZ SURIQDG]Z -XNID
o “DQIH) = 750 =(&
£
= 7N
B 2UIDQUIDFID HYHQIYZ IXVINFIQNFK L
1 UHNUHDFNIQNFK Z PJU 6]\PDOHN
6HPLQDUX 3UDUF]\N ODUID = 750
P =(:
PDJIVIHIVNL
HGl 7\G]
3&EDPGLLE)\</VM 2UIDQLIDFID HYHQIYZ IXAVINFTQ\FK L
$ 1 UIHNUHDFNIQ\FK GZ PJU 6]\PDQHN
50 fLéDgf]\N oDnuD = 750
=( - ‘
7N 7N 7\G] 7N 7\G]
SEH]SIHFIHQD Z =DU]4G]DQH JDVREDPL =DU]4G]DQIH NDUHU3 L IR]ZRIHP =DJRVSRGDIRZDQUH
IXOWINFH Z PJU =DI]4G]DQIH JDVREDP! IXGINPL Z GU *ylQD RVREWAP Z SURIQDG]Z .XNID IXU\VINFTQH L UHNUHDF\IQH
3UDTPRZVND ODUID = IXGINPL Z GU *ylQD -RDQQD = 7,5 “DQH) = 750 =(: 4Z SURI =DVIDYHIVND
750 =(: -RDQQD = 7,5 0 =(C: JHVD : 750
0 =(: 7N =(&
—~ ™ =DU]3G]DQIH NDUHU3 L R]ZRIHP
B RVREWVAP GZ SURIQDG]Z -XNID
1 2UIDQLIDFID HYHQIZ =DU]4G]DQIH JDVREDPL “DQH) = 750 =(&
8EH]SIHF] IXU\VAFTQ\FK L IXGINPL UZ ~GU *ylQD
HOLD Z UHNUHDFNIQNFK 2 PJU -RDQQD = 7.5 7N
IXUNVINEH GI\PDQHN 3UDUFT\N o =¢& 2UIDQLIDFID HYHQIYZ IXAVINFTQ\FK L
> CﬁDTE‘giUZV opu - = 750 UHNUHDF\IQ\FK 0Z  PJU 6]\PDQHN
z ‘ =C: 3UDUFT\N ODUID = 750
= ND ODUID (s
[a) - 7\G]
ﬁ‘ 750 =DU]aG]DQIH JDVREDPLIXGINIPL GZ GU *yUQD
T =C:= -RDQQD - 750 =(&
7\6]
=DU]aG]DQH JDVREDPL IXGINPL iZ G
*ylQD -RDQQD = 750
:( &
7N
20IDQLIDFID HYHQlyZ
IXU\VAFTQ\FK L
UHNUHDFNIQ\FK G2 PU
6]\PDQHN 3UDUFT\N
onuD - 750
=(&
z 7\6] 7\6]
I 3RUN (RIQIFTH Z REVIXGIH 3RUN (RIQIFTH Z REVIXGTH
O UXFKX IXAVINFIQHIR Z UXFKX IXAVINFIQHIR GZ
7 PJU GICIDN SIHNVDQGUD PJU GICIDN SIHNVDQGUD
750 =(: 750 =(&




/DVIRB

*UXSD 5R]NiDG 7,50 =C - 7\J
z 7\6] 7\6]
= 3RUN (RIQFTH Z REVAXG]H UXFKX 3RUN (RIQFTH Z REVAXG]H UXFKX
Q IXIVINFTQHIR Z PJU §IC]DN IXIVINFTQHIR 62 PJU §IC]ON
n $HWDQGID 750  =( = $HWDQGID 750 =(&
[a e
©




